Sldinge BK
Partavling 2019-11-04

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac Par Poang % Namn MID Klubb
1 7 131 68.23  Ingvar Bengtsson - Ove Bengtsson 2736 2725  BK Falkenberg - Sldinge BK
2 6 114 59.38 Jan Janson - Bengt Johansson 37924 93806 BK Falkenberg - Sléinge BK
3 8 109 56.77  Christina Berthag - Hans Carlsson 33608 48914 Sloinge BK - BK Falkenberg
3 10 109 56.77 Margareta Karlsson - Hans Kristenson 42662 93804 BK Falkenberg - Sldinge BK
5 9 107 55.73  Lena Ohlsson - Kjell Hedblom 25662 23768 Sldinge BK
6 5 100 52.08 Einar Jonsson - Per Eliasson 2732 2764  BK Falkenberg
7 4 97 50.52  Else-Lis Johansson - Per-Ake Persson 46019 46033 BK Falkenberg - Sldinge BK
8 3 73 38.02 Ingela Johansson - Gert-Arne Johansson 46021 46020 Slbinge BK
9 1 62 32.29 Ingvor Olsson - Bengt Olsson 78590 38857 Sldinge BK
10 2 58 30.21  Ann-Katrin Selander - Hans Selander 33609 33610 Sldinge BK
1 &« DKn76 Bésta kontrakt 2 «ED Bésta kontrakt 3 46 Bésta kontrakt
Nord v E843 4v N =420 Ost v KKn863 ANT S =630 Syd v DKn1086 54 V =-650
Ingen + 84 NS 4 Kn6 ov + 865
#1093 & ¢ v & NT #DKn94 & ¢ v & NT #K1072 & ¢ v & NT
4 E983 41042 N 7 8 108 8 4752 # 98643 N 108 9 8 10 4 E852 4 KD94 N53423
vK9 v75 S 7 8 108 8 vED1072 ¥5 S 108 9 8 10 vE72 vK53 S53423
¢E9% ¢ 10752 055244 ¢ K103 49854 O3 4453 + D102 ¢ EK73 O 8 109 1110
#K864 #DKn52 V55245 »106 &E82 V 34453 #Kn94 &E6 vV 8 109 1110
4 K5 4 KKn10 4 Kn1073
v DKn1062 v94 v94
¢ KDKn3 ¢ ED72 ¢+ Kn94
»E7 #K753 #D853
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr Ut Res  Poang
9 1 4v S+l &A 450 7.0 1.0 7 8 3NS+1 *T 630 8.0 0.0 9 1 440-1 ¥9 100 7.0 1.0
10 5 4v S+1 +A 450 70 1.0 2 4 3NN= &2 600 4.0 4.0 10 5 64 V-1 ¥vQ 100 70 1.0
7 8 2vS+3 +A 200 4.0 4.0 9 1 3NN= &2 600 4.0 4.0 7 8 44 0= 9vQ -620 4.0 4.0
2 4 440-3 ¥Q 150 2.0 6.0 10 5 3NS= a7 600 40 4.0 2 4 3NV+1l ¢Q -630 2.0 6.0
3 6 2v S+l &4 140 0.0 8.0 3 6 24S-1 a7 -100 0.0 8.0 3 6 5NO= &3 -660 0.0 8.0
4 & K9 Bésta kontrakt 5 492 Bésta kontrakt 6 4« D10932 Bésta kontrakt
Vast v EKn97 5¢v N =650 Nord vE632 6¢ O =-920 Ost v Kn1062 5NT O =-660
Alla + Kn1062 NS + 10 ov +6
*Kn76 & ¢ v & NT #KKn10852 & ¢ v & NT #972 & ¢ v & NT
4D1052 4Kn76 N85 117 6 4E543 486 N8 1872 4 EKKn6 4875 N526 42
v 106 vD8 S 8 4 117 6 v9 v KKn8 S817 72 v54 vEKD S526 42
¢ D93 ¢ EK8754 O57 266 ¢ E52 ¢KD987643 O 5 125 5 10 ¢ K10542 ¢ ED93 07 117 9 11
#E854 D10 V57266 #E9763 &- V 5 125 5 10 #Kn8 #K103 vV 7 117 9 11
4 E843 4 KDKn107 ry!
v K5432 vD10754 v 9873
.- + Kn + Kn87
#K932 «D4 #ED654
Par Kontr Ut Res  Poang Par Kontr ut Res  Poang Par Kontr Ut Res  Poang
8 1 4vS= &2 620 70 1.0 8 1 56 0= &A -400 8.0 0.0 8 1 56 0-1 &K 100 8.0 0.0
10 6 4vS= a2 620 7.0 1.0 9 2 3NO+1 w7 -430 6.0 2.0 9 2 44 S-2 A -100 6.0 2.0
9 2 3vS+3 &A 230 4.0 4.0 3 5 3NO+2 #A -460 2.0 6.0 3 5 3¢0+3 «K -170 4.0 4.0
4 7 3vS= 3 140 20 6.0 4 7 3NO+2 6 -460 2.0 6.0 4 7 56 O+1 4K -620 10 7.0
3 5 2aV-1 vA 100 0.0 8.0 10 6 3NO+2 4 -460 2.0 6.0 10 6 5¢ O+1 4K -620 1.0 7.0
7 4 D63 Basta kontrakt 8 41096 Basta kontrakt 9 4 D54 Basta kontrakt
Syd v K942 5NT V =-660 Vast vED1076 34 OD-1100 Nord v DKn109 4v S =420
Alla + KD743 Ingen ¢+ Kn4 ov + K9765
»8 & ¢ v & NT #Kn83 & ¢ v & NT &K & ¢ v & NT
oK « E984 N4 4242 4 E8743  4Kn52 N6 6 958 & EKn6 410972 N499 46
vDKn765 vE83 S 44242 v- v K984 S56 9538 v K64 v72 S 4 9 105 6
¢Knl109 ¢ E52 09 8 119 11 + 1086 ¢ K952 O76 485 ¢ Kn2 + D10 09 4386
#KD104 #E96 vV 9 8 119 11 #D10742 #K9 V76475 #Kn10943 &ED862 V94386
4 Kn10752 «KD & K83
v10 v Kn532 v E853
+86 ¢+ ED73 + E843
#Kn7532 #E65 *75
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
4 6 6vyV-1 &8 100 8.0 0.0 9 3 2vN+1 5 140 8.0 0.0 1 2 3vyS+1 &9 170 8.0 0.0
9 3 2NO+1 o7 -150 6.0 2.0 1 2 29y N-1 &9 -50 5.0 3.0 4 6 3vN= &T 140 5.0 3.0
5 8 4vV= &8 -620 3.0 5.0 4 6 4vS-1 &2 -50 5.0 3.0 9 3 3vrS= &3 140 50 3.0
10 7 4v V= &8 -620 3.0 5.0 10 7 3NS-2 &2 -100 2.0 6.0 10 7 3¢ N= 97 110 20 6.0
1 2 3NO+1 a2 -630 0.0 8.0 5 8 5vS-3 &A -150 0.0 8.0 5 8 3NN-2 &8 -100 0.0 8.0
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10 4 K3 Basta kontrakt 11 4 E852 Basta kontrakt 12 4 Kn1032 Basta kontrakt
Ost v E85 4¢ S =130 Syd v KD102 4¢ V =-130 Vast v D54 4¢ V =-130
Alla + K1086 Ingen +6 NS + K85
#KD109 & ¢ v & NT #D1076 & ¢ v & NT #865 & ¢ v & NT
« EKN976542 #1108 N 9 107 4 7 «KD76 4Kn43 N7 3755 4 EK954 486 N53857
v Kn9 v K10742 S 9 107 4 7 v74 v 983 S737565 v8 vKn73 S53857
¢ Kn ¢ E954 033593 +K102 ¢ ED9753 O 6 105 8 8 ¢ED43 ¢ Kn962 08 9586
£52 *Kn6 V335093 #EKKn4 #9 V 6 105 8 8 #Kn93 &ED72 V 8 105 8 6
aD » 109 D7
v D63 v EKn65 v EK10962
+ D732 + Kn84 ¢ 107
#E8743 #8532 »K104
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
5 7 44 V-1 ©vA 100 70 1.0 6 1 24V-1 ¢K 50 70 1.0 6 1 2vS+2 &A 170 70 1.0
6 1 4eV-1 ©vA 100 70 1.0 9 4 3NV-1 2 50 7.0 1.0 10 8 2v S+2 4A 170 70 1.0
2 3 24V+1l vA -140 3.0 5.0 2 3 200+1 vA -110 3.0 5.0 2 3 384V-2 ¢5 100 4.0 4.0
10 8 34V= &K -140 3.0 5.0 10 8 3¢ V= vK -110 3.0 5.0 9 4 4e V-1 v4 50 2.0 6.0
9 4 34DV= vA -730 0.0 8.0 5 7 3NV+2 ¢K -460 0.0 8.0 5 7 3¥yN-1 &A -100 0.0 8.0
13 4« D9 Basta kontrakt 14 49654 Basta kontrakt 15 a4 Basta kontrakt
Nord vKD1053 6y N =1430 Ost vE9 34 SD-1-100 Syd vD103 44 O =-420
Alla + EKD54 Ingen + K863 NS + KKn107
»2 & ¢ v & NT #543 & ¢ v & NT #D9876 & ¢ v & NT
«E62 » Kn1085 N 6 12129 11 a2 K873 N46 585 » 862 «EK10753 N 9 5 6 3 6
vKn42 v9 S 6 12129 11 v 1076 v DKn52 S 46585 vE9842 v75 S 95636
+ 873 ¢ Kn109 071141 ¢ DKn42 ¢E7 096 857 ¢ 64 ¢ E9532 04 7 7 107
#DKn84 #K10753 V71141 #EKKNn106 #D92 V96857 &#KKn3 - V477897
&« K743 « EDKn10 « DKn9
vE876 v K843 v KKn6
462 + 1095 + D8
*E96 *87 #E10542
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéng Par Kontr Ut Res  Poéang
9 5 6YyN= 4] 1430 8.0 0.0 3 4 3NO-1 4A 50 70 1.0 7 2 2NS= &3 120 8.0 0.0
1 10 4v N+2 3 680 3.0 50 7 2 3v0O-1 5 50 70 1.0 3 4 340= #A -140 5.0 3.0
3 4 4y N+2 ¢ 680 3.0 5.0 1 10 24 0= T -90 4.0 4.0 6 8 340= #A -140 5.0 3.0
6 8 4y N+2 &7 680 3.0 5.0 6 8 24S-3 42 -150 2.0 6.0 1 10 24 O+2 v6 -170 1.0 7.0
7 2 4y N+2 &7 680 3.0 50 9 5 3NO+1 +¢9 -430 0.0 8.0 9 5 340+1 ¢Q -170 1.0 7.0
16 49 Basta kontrakt 17 «E73 Basta kontrakt 18 a7 Basta kontrakt
Vast v EK3 3NTV =-600 Nord v K106 6NT N =990 Ost v 10952 2NT O =-120
ov + KDKn95 Ingen + E875 NS 410972
#10642 & ¢ v & NT #Kn103 & ¢ v & NT #KKn32 & ¢ v & NT
4752 « EKD N36 46 4 4 KD864 & Kn952 N 128 125 12 4 KD1086 442 N56 6 45
vDKn1096 ¢52 S36 46 4 vD874 ¢33 S 128 125 12 v K84 vEG3 S566 45
¢E2 +873 096879 + D10 ¢ KKn432 014181 +D3 ¢ EK85 O7 66 8 8
»D73 #EKn985 V96879 »82 *K95 V14181 «D109 #8754 V766838
+ Kn108643 10 # EKn953
v 874 v EKn952 v DKn7
+ 1064 496 + Kn64
*K #ED764 *E6
Par Kontr ut Res  Poéang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
4 5 340-1 48 100 50 3.0 4 5 4v S+1 #K 450 7.0 1.0 7 1 INN+1 5 120 8.0 0.0
7 1 240-1 4 100 50 3.0 7 1 4v S+l &K 450 7.0 1.0 8 3 14aS= &9 80 6.0 2.0
8 3 2vV-1 9 100 50 3.0 9 6 3NN= &5 400 4.0 4.0 2 10 2NV = &7 -120 4.0 4.0
9 6 3#0-1 ¢4 100 50 3.0 8 3 3v S+l &K 170 2.0 6.0 9 6 1aS-2 &9 -200 2.0 6.0
2 10 3v V+1 49 -170 0.0 8.0 2 10 24 V+1 +A -140 0.0 8.0 4 5 3NV+1l &3 -430 0.0 8.0
19 & DKn875 Bésta kontrakt 20 + 1087 Bésta kontrakt 21 & KKn10 Bésta kontrakt
Syd v EKn9 INTV =-90 Vast v 103 2NTV =-120 Nord v6 ANT N =630
oV +8 Alla + ED96 NS + D65
#8653 & ¢ v & NT *E864 & ¢ v & NT #EKKn862 & ¢ v & NT
& K92 #1063 N6 6776 & KKn5 » E9642 N6 5855 « ED93 #8765 N 9 115 6 10
v8 v 76532 S667 76 v EK4 v 87 S75855 v EK9873 1052 S 9 116 6 10
¢E654 ¢ D107 076557 ¢ Knl073 ¢ 842 06 858 8 +K + 108 041773
#KD942 #E7 V76557 »D95 *K32 V685838 94 #D1053 V41773
«E4 «D3 442
vKD104 v DKn9652 v DKn4
+ KKn932 + K5 ¢ EKn97432
«Kn10 «Kn107 *7
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
5 6 2vS= &K 110 8.0 0.0 1 4 340-1 v2 100 8.0 0.0 5 6 4¢S= ¥YA 130 6.0 2.0
1 4 2NV-1 8 100 6.0 2.0 3 10 Pass 6.0 2.0 8 2 4¢S= vA 130 6.0 2.0
3 10 24 N-1 A -50 3.0 5.0 8 2 2vN-1 4A -100 4.0 4.0 9 7 44 S= YA 130 6.0 2.0
8 2 3vS-1 <A -50 3.0 5.0 5 6 240+1 ¢vQ -140 10 7.0 1 4 2vV+2 #A -170 2.0 6.0
9 7 3vS-2 &K -100 0.0 8.0 9 7 24V+l &A -140 10 7.0 3 10 3#N-2 *T -200 0.0 8.0

Sldinge BK, Partavling 2019-11-04, sida 2 av 3




22 & K5
Ost v EKDKn104
oV + Kn762
&K
& ED43
v32

4 Kn8
v 985
+ D84 + K109
10765 #D9832
109762
v76
¢+ E53
&EKn4
Kontr Ut
4v N = s
4v N = &2
4v N = +9
29 N+2 &
lvy N+2 ¢9

Par

=

NFROO M
QWoo~NO

Basta kontrakt

4ANT S =430

& ¢ v & NT
N 7 9 109 10
S 7 9 109 10
06 3343
V63343
Res  Poang
420 6.0 2.0
420 6.0 2.0
420 6.0 2.0
170 2.0 6.0
140 0.0 8.0

23 & EKDKn7
Syd v3
Alla + D9743
&Kn7
#1042 493
v109852 vED764
¢ 62 ¢+ EK
&D42 &#K1093
& 865
v KKn
+ Kn1085
#E865

Kontr Ut

7 44 N= ¢A
10 24 N+1 ¢A
8 34 N= +A
3 49y O-1 &5
5 3v O+1 &5

Par

NFRORMOD

Basta kontrakt
34 S =140

<Onz
NN OO
WWO©e
cohde
WWOOn
coo~N~NZ

Res Poan

620
140
140
100
-170

«

oMo
coooo
OOWwWo
cooooo

24
Vast
Ingen

Par

NO A OR
=

s E7
v E53

4 D1098

v DKn742

¢ DKn7

&E

& KKn63
v K98

¢ E652 ¢ K94
#K876 #D42

O~NO oW

& 542

v 106
41083
#Kn10953

Kontr Ut

34 0-1 v6
3NV-1  v7
3NV= 49
3NV=  vQ
ANV+2 7

Basta kontrakt
3NTV =-400

©OwWwwWn
©ONNZ

Res

50 7.0
50 7.0
-400 3.0
-400 3.0
-460 0.0
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